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Rule 1  :- When one person rank is given from both side .

Points to Remember

Rule 2  :- When two person rank is given from other side .

Rule 3  :- When Minimum case is not possible .

Rule 4  :- To find the middle person .

Rule 5  :- Position interchange .
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Points to Remember

Rule 5  :- Position interchange .
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Q. In a row X is 14th from right and 19th from left. Then what is total no?

एक पंनि में X दधए ंसे 14 वे और बधए ंसे 19वे स्थधि पर है। तो कुल सखं्यध क्यध  होगी 

है?

(1) 21

(2) 32

(3) 10

(4) 24

(5) None of these
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Q. In a row of 35 students. Amit is 15th from right and Mohan is 12th

from left. How many students are there between Mohan and Amit?

35 छधत्रों की एक पंनि में। अनमत दधए ंसे 15 वें स्थधि पर हैं और मोहि बधए ंसे 12 वें 

स्थधि पर हैं। मोहि और अनमत के बीच नकतिे छधत्र हैं?

(1) 21

(2) 13

(3) 10

(4)  8

(5) None of these
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Q. In a row of 25 students. X is 19th from right and Y is 21st from left. 

How many students are there between X and Y?

25 छधत्रों की एक पंनि में। X दधए ंओर से 19 वें स्थधि पर है और Y बधए ंओर से 21 वें 

स्थधि पर है। X और Y के बीच नकतिे छधत्र हैं?

(1) 21

(2) 13

(3) 10

(4) 6

(5) None of these
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Q. In a row A is 12th from left and B is 16th from right and there are 5 members

between A & B then what is total no?

एक पंनि में A बधई ंओर से 12 वें स्थधि पर है और B दधये ओर से 16 वें स्थधि पर है और A और

B के बीच 5 सदस्य हैं तो कुल संख्यध क्यध है?

(1) 33

(2) 21

(3) 10

(4) Either 33 or 21

(5) None of these
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Q. Rohan ranks seventh from the top and twenty-sixth from the bottom 

in a class. How many boys are there in the class ? 

रोहि शीर्ा से सधतवें स्थधि पर हैं और िीचे से 26 वे स्थधि पर हैं। कक्षध में नकतिे लड़के 

हैं?

(1) 31           

(2) 32      

(3) 33          

(4) 34 

(5) None of these
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Q. Manik is fourteenth from the right end in a row of 40 boys. What is 

his position from the left end? 

मधनिक 40 लड़कों की एक पंनि में दधए ंछोर से 14वें स्थधि पर है। बधए ंछोर से उसकी 

नस्थनत क्यध है?

(1) 24th        

(2) 25th             

(3) 26th          

(4) 27th           

(5) None of these
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In a row of children, X is 49th from right and Y is 25th from left. When they 

interchange positions X is 60th from right. Then find the total person in a row?

बच्चों की एक पंक्ति में, X दायें से 49th स्थान पर ह ैऔर Y बायें से 25th स्थान पर ह।ै जब वे स्थान 

बदलते हैं तो X दाएँ से 60th स्थान पर होती ह।ै तो एक पंक्ति में कुल व्यक्ति ज्ञात कीक्तजये ?

(1) 85  

(2) 86

(3) 87

(4)  84

(5) None of these
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Q. In a row of Bank ATM queue Sumit is 18th from the front of the queue and Lalit

is 23rd from the back side of the queue. What will be the total number of candidates 

in that queue if there are eight candidates in that queue between Sumit and the one 

who is exactly middle of Sumit & Lalit ? 

बैंक ए.टी.एम. पंनि में सुनमत आगे से 18 वे स्थधि पर है और लनलत पंनि में पीछे की ओर से 23 वें

स्थधि पर है। सुनमत और वह व्यनि जो सुनमत और लनलत के ठीक बीच में है, के बीच आठ 

उम्मीदवधर बैठे है। तो उस पंनि में उम्मीदवधरों की कुल संख्यध क्यध होगी? 

(1) 35

(2) 41

(3) 36

(4) Cannot be determined

(5) None of these
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Q. X is 4th to the left of Y who is 17th from right end. What is rank of X 

from right end?

X,Y के बधए ंचौथध है जो दधए ंछोर से17वधं है तो ज्ञधत कीनजए X कध दधए ंछोर से स्थधि क्यध होगध?

(1) 21st

(2) 25th

(3) 19th

(4) 24th

(5) None of these
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Q. In a class of 90 students, numbers of boys are twice the number of girls. Rani

is 58th from the left end and there are 20 boys to the right of Rani, then find the 

number of girls to the left of Rani? (if Rani is girl)

90 छधत्रों की एक कक्षध में, लड़कों की संख्यध, लड़नकयों की संख्यध कध दो गुिध है। रधिी बधए ंछोर 

से 58 वें स्थधि पर हैं और रधिी के दधनहिे ओर 20 लड़के हैं, तो रधिी के बधई ंओर लड़नकयों की 

संख्यध क्यध होगी? (अगर रधिी लड़की है) 

(1) 15 

(2) 16

(3) 17 

(4) 19

(5) None of these 
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Q. A is 6th to the right of B who is 12th to the left of C who is 19th from right end. 

What is rank of A from left if total no is 34?

A,B के दधए ंओर 6 वें स्थधि पर है जो C के बधए ंओर 12 वें स्थधि पर है जो दधए ंछोर से 19 वध है। 

यनद कुल संख्यध 34 है तो बधए ंछोर से A की रैंक क्यध है?

(1) 21st

(2) 25th

(3) 10th

(4) 24th

(5) None of these
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Q. In a row of 35 students. X is 5th from left and Y is 9th from right. Z

is exactly mid of X & Y. What is the rank of Z from right end?

35 छधत्रों की एक पंनि में X बधएं से 5 वें स्थधि पर है और Y दधएं से 9 वे स्थधि पर है। Z ,X और

Y के नबल्कुल मध्य में है। दधएं छोर से Z कध रैंक क्यध है?

(1) 5

(2) 21

(3) 10

(4) 20

(5) None of these
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Q. In a row of 35 students. X is 29th from right and Y is 27th from left 

and Z is exactly mid of X & Y. What is the rank of Z from left end?

35 छधत्रों की एक पंनि में X दधए ंसे 29 वे स्थधि पर है और Y बधए ंसे 27 वे स्थधि पर है 

और Z ,X और Y कध नबल्कुल मध्य  में है। बधए ंछोर से Z कध रैंक क्यध है?

(1) 17

(2) 21

(3) 10                  

(4) 20  

(5) None of these
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Q. In a row of 45 students. X is 5th from left and Y is 9th from right. Z

is exactly mid of the row. What is the rank of Z from right end?

45 छधत्रों की एक पंनि में X बधएं से 5 वें स्थधि पर है और Y दधएं से 9 वें स्थधि पर

है। Z पंनि के ठीक मध्य में है। दधये छोर से Z कध स्थधि क्यध है ?

(1) 17

(2) 25

(3) 10

(4) 20

(5) None of these
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Q. Three persons A, B and C are standing in a queue. There are five persons 

between A and B and eight persons between B and C. If there are three persons 

ahead of C and 21 behind A, then what could be the minimum number of persons 

in the queue ?

पंनि में तीि व्यनि A, B और C खड़े हैं। A और B के बीच पधंच व्यनि और B और C के बीच 

आठ व्यनि हैं। यनद 3 व्यनि C के आगे है और 21 पीछे हैं, तो पंनि में कुल न्यूितम संख्यध क्यध

होगी?

(1) 27           

(2) 28    

(3) 40 

(4) 41           

(5) None of these
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Q. In a row of 25 girls, when Neha was shifted by four places towards the left, she 

become 10th from the left end. What was her earlier position from the right end 

of the row?

25 लड़नकयों की एक पंनि में, जब िेहध को चधर स्थधि बधयी ओर स्थधिधंतररत कर नदयध गयध, तो वह बधए ंछोर से 

10 वें स्थधि पर हो गई। पंनि के दधनहिे छोर से उसकी नपछली नस्थनत क्यध थी?

(1) 10th

(2) 11th

(3) 12th

(4) 13th

(5) None of these 


